= o
A & 0l & AF 2 E A A
20219 &= = 0llat LB & XA
SN BAMD
M HII=E 2
S MEaMy) ¥ HIIS N 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AP Mt 15,109,317 14,359, 182 750,135
= 2,056,848
< 141,131
s 12,911,338
HII=Z 2cl 12,890,534 13,503, 106 AB12,572
= 367,435
< 109,631
[ia 12,413,468
MEMg Il 2 HIlE XNE 22 12,890,534 13,503, 106 AB12,572
= 367,435
< 109,631
[ia 12,413,468
MEHIIS 2ol = 236,400 445,580 A 209,180
201 et 31,000 36,400 A5,400
01 At 2teltl 31,000 36,400 25,400
OUEHII= AEIA ME 400& = 40,0000H 16,000
OH=2+H Heltl 800& = 12,500kg 10,000
OMEHIIZ 2cltis s2= 5,000,000 5,000
203 ¥ S =&l 1,500 1,500 0
03 AIHF=XH S =AH| 1,500 1,500 0
OFAHE FRFA &4l 1,500, 000& 1,500
206 M= Hl 203,900 407,680 A~ 203,780
01 M= 4l 203,900 407,680 A~ 203,780
oMl RASE MH 191,900
-3 2 25% = 400,0000H 10,000
50 2 31& * 400,0000H 12,400
-104 8 38& * 300,0000H 11,400
-200 B 57& = 800,0000H 45,600
504 8 1243 + 200,0000H 24,800
-750 8 169& = 300,0000H 50,700
-PPZE i (304 &) 370& * 100,0000H 37,000
OsASMYy Il =)e 2
60,0003 * 2000H & 12,000
SYHEI N 2el 119,192 137,698 A 18,506
201 ety 64,992 54,592 10,400
01 AL 22l H| 42,000 31,600 10,400
OMYDl SUSIISXN L 224K &2 17,000
-0 60,000& = 2001 = 53| 6,000
-EE22 11,000, 000& 11,000
OgXIHIIZ Hel 100,000& * 240& 24,000
OHYIE2 RHEI S 0r2es 4|
8,000& * 5% = 253 1,000
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AN FAAMD
M HIIE 2e

Gl MEMY D L HIIZ2 NE 22 (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 2224 H| 22,992 22,992 0
OMY Il 8HED| SHEHHI(CCTV) AHUAAIE
= 100,000& = 50 ~ 12€ 6,000
OMY Il EHED SHEHHI(CCTV) EII2S
2,0008 ~ 580H = 12&€ 1,392
OMYIDJl S8 ED| ¢=x34H Al 4,000
—24A2F AL EHH S ZH|(CCTV) 0l & H|
1,500,000 = 1CH 1,500
-AOFE A D EH(CCTV) Ol &b
250,000 = 5CH 1,250
-0l&™ &AXl &I AIdEEZ2
250,000 = 50H 1,250
OMYJl SEED| HEEH SFAE S|
200,000 = 58CH 11,600
202 044l 11,200 16,000 A4 ,800
01 2L Y| 11,200 16,000 A4 800
OFAHE 2K dHl  16,000,000& * 70% 11,200
301 et N3 3,000 5,720 A2,720
12 JIEtE & =2 3,000 5,720 N2,720
OSEHED ADEAS 3,000,000& 3,000
401 AlEHIZ £ 0HY| 40,000 45,000 A5,000
01 Al&H| 40,000 40,000 0
OMAD 8YED X CCTV(0ISAl) &
4,000,000& = 10CH 40,000
MesE st 23,644 31,144 A7,500
201 Bt 10,644 20, 144 A9,500
01 AP 22| H| 10,500 20,000 A 9,500
OMEsEsE d=2440 M2 210,000& = 5004 10,500
02 232%H4| 144 144 0
OZeldt=xA &8I)Ie=2
6,0008 * 2)HA = 12€ 144
206 M = dl 13,000 11,000 2,000
01 X2 bl 13,000 11,000 2,000
OO0l =Hg 60,000& = 504 3,000
OHAMX £=H& 50,000& = 20074 10,000
HANHAY 29 6,522,000 9,222,000 A2,700,000
201 LBt Y| 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
OMEHIIZS F3AE HUAAN 2=HI
500,000 * 424 2,000
207 S0 | 20,000 20,000 0
01 | 20,000 20,000 0
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AN FAAMD
M HIIE 2e

S MEMY I L HIIZS KNE 22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OREHIIE +aeora 0l O HEax =
ot 24 20,000,000& 20,000
307 212t01 & 6,500,000 9,200,000 A2,700,000
05 A2t E =2 6,500,000 9,200,000 A 2,700,000
OFAUH nE3 6,500,000,000& 6,500,000
MEHI =S KHelAlda 22 4,993,747 2,590,994 2,402,753
201 et A | 36,154 41,154 A5,000
01 AFR22t2l Yl 27,154 30, 154 A 3,000
OHIIM HE & AtZ 22 7,080
-Xat =& A A 137,800 * 30 A * 43] 1,654
—EAQAHT HA}
1,356,410 = 414 * 13| 5,426
OF HE&E AZ=2e 12,728
-Xat== =& A At 137,800 * 304 A * 43] 1,654
-AES SEAM 337,000 * 1JHA = 48] 1,348
00 & JEA ZAF 300,000 * 40 « 13 1,200
—EAQAHT AHA}
1,356,410& = 4014 * 13| 5,426
N E> =2 AHA 350,000& * 1A = 23] 700
-Xlet Gt ZAF 200,000& * 6 A + 23] 2,400
O & 212 2t =ZHA 4,346
-Xl&ta =& HA 137,800 * 104 = 23] 276
-AEa =22 A 337,000& * 1A + 103 3,370
N ES =E2HAA 350,000& * 10HA = 28] 700
OHJEME 2 8% Rl 3,000,000 3,000
02 3524t 9,000 11,000 A 2,000
OFRMEE RAES 22/H] 3,000,000& 3,000
OFMEE &I 500,000& = 12& 6,000
202 (4] 4,788 6,840 N 2,052
01 2L Y| 4,788 6,840 AN 2,052
Od(P)HEHE g2=Z 0l
6,840,000& * 70% 4,788
206 T2 HI 3,000 3,000 0
01 & bl 3,000 3,000 0
OFMEd A 228 MHEZHl 3,000,000 3,000
308 X SHAMSOIA 4,819,805 2,510,000 2,309,805
07 MHXHAH2AES2 4,419,805 2,040,000 2,379,805
Odl HE&E 290l 3,700,000,000& 3,700,000
O22ZAIE SEAISHI 445,691,250& 445,692
OMEs8dEAd SEAISYI 274,113,000& 274,113
12 JEtR Y2 400,000 470,000 270,000
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AN FAAMD
M HIIE 2e

DAEMYD 2 HOIE NS el (&2 &)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OHJIEXM==RES3 400,000,000& 400,000
401 Al B2 28I 130,000 30,000 100,000
01 A& HI 130,000 30,000 100,000
OFMEE SHMLAS 30,000,000 30,000
OUEAE 22 OIS FU=A A (A4S
el) 50,000,000& 50,000
OUEALE 212 =02 FU=A AH(SS
el) 50,000,000& 50,000
SEHHE =HBA(AMEE) 165,000 143,000 22,000
= 15,000
< 30,000
s 120,000
301 LEAF 165,000 143,000 22,000
= 15,000
< 30,000
[ia 120,000
12 JIEtE &= 165,000 143,000 22,000
SEHUY £HBH3 AMEE
165,000, 000& 165,000
= 15,000
< 30,000
s 120,000
=dIOIE HelX& 530,871 771,740 A 240,869
=2 265,435
< 79,631
s 185,805
402 RI2HXt20l ™ 530,871 771,740 A 240,869
= 265,435
< 79,631
[ia 185,805
03 BIZHR[EF AL HI 530,871 0 530,871
OsdiOIE ™Ml ¥ HEAS 509, 120,000 509,120
=2 254,560
< 76,368
e 178,192
O£dIOIE A=F2 AHZA 21,751,000 21,751
= 10,875
< 3,263
[ia 7,613
SEHHE 25 ot dXAS-EX 40,000 40,000 0
= 12,000
s 28,000
401 AIEBIZ 28I 40,000 40,000 0
= 12,000
[ia 28,000
01 A& tl 40,000 40,000 0
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2N
CHIIE 2e

el

X ZH
S =

A

MEMYDI E HIIS AT 22

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OsZHHE 35 HotE EXAY
40,000,000& 40,000
= 12,000
s 28,000
=EHEZ &= 8,200 10,950 22,750
201 £B-2%H| 8,200 10,950 22,750
01 At 22l 8,200 10,950 22,750
O=EANZ HEZ22S FH3RA 24
3,000& = 400 = 63l 7,200
O=EANZ HEZ22S 34057 F¥
1,000,000 1,000
HOIg ¥ XNJ=8 HE 20,000 40,000 220,000
207 Ao H] 20,000 40,000 A 20,000
01 22 &SI 20,000 40,000 220,000
OSAEFRHIIES 24 AX L MEH FoHHl
JI2 Mel =80 I 9 20,000,000 20,000
MEHIIE E0|1)| 2= 81,480 0 81,480
201 et 49,480 0 49,480
01 At 22l 49,480 0 49,480
ORFID SASMaIl S Xt
70,000 = 30CH = 12& 25,200
oMl HEE =& g2 MH
3,000& = 2,0000H4 6,000
OSASaEr TAZEI| M
7002 * 10090 » 150JH & 10,500
OMgDl 2 & WEE 2= &40 A
100,000& * 104 1,000
ontssd &0l M2 ME
20,0003 = 3394 6,780
307 glz2+ol & 8,000 0 8,000
02 HAFHAANGFEE 8,000 0 8,000
OdEMY D 201D 2= 8,000,000& 8,000
402 RI2EX20| ™ 24,000 0 24,000
01 212t 2 A E = (RERTH ) 24,000 0 24,000
OSAE RAHMeldl XEALY
480,000 = 50CH 24,000
Mes sdotY XX 150,000 0 150,000
= 75,000
s 75,000
401 AIEBIZ 28I 150,000 0 150,000
= 75,000
[ia 75,000
01 A& tl 150,000 0 150,000
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2N

A

M HII=E 2
S MEaMy) ¥ HIIS N 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
onMasg sutte 4XX& 150,000, 000& 150,000
= 75,000
[ia 75,000
=2 SSHUAE EXNAY 10,398 156,000 A 145,602
N=EEr SSHEAE EXAY 2,688 3,840 N 1,152
= SSHCAE EXAY 2,688 3,840 A1,152
202 O4dl 2,688 3,840 N 1,152
01 = LH 4 1l 2,688 3,840 N 1,152
ON=EEh SSHeAE HRFE 0]
3,840,000 * 70% 2,688
=2 EHEAE 22 7,710 152,160 A 144,450
BHEAIE 2tel 7,710 152,160 A 144,450
201 Let249H] 3,678 4,400 AT22
01 At 22l 1,024 4,400 A 3,376
OJIN=EZ=tHEAE Or2tEZ sS4l
8,000& = 4% = 322/ 1,024
02 =24l 2,654 0 2,654
OAHFHZA BLIHEAAHE QHY AEZE
72,600 = 123 872
OAFZA ZULHHAIAY LTE 26 24RH
11,0008 » 1228 132
OAHFHZAl 2LHEAIAE SXE= 22l
1,650,000 1,650
202 04l 4,032 5,760 A1,728
01 = LH 4 Hi 4,032 5,760 A1,728
OIN=EatisAE dRFT 0l
5,760,000& = 70% 4,032
e HUHXER2 ZdAY 1,521,344 1,920 1,519,424
= 1,520,000
[ia 1,344
TEF HUXER2 ZdAY 1,521,344 1,920 1,519,424
= 1,520,000
[ia 1,344
ZEE MUXE2 ZEAY 1,344 1,920 A576
202 044l 1,344 1,920 A576
01 = LH o4 1l 1,344 1,920 A576
OzEd HUXNE2 ZdAY HRFE oYl
1,920,000& * 70% 1,344
dEd MUXE2 ZdAY 1,520,000 0 1,520,000
= 1,520,000
403 tXSHHE =01 & 1,520,000 0 1,520,000
= 1,520,000
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EXN: AR
HEM: XNEA UHKEES LAY
e ®EAE HUXES2 Z48AE (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 BI2SHUSAN2EAEAIS Y 1,520,000 0 1,520,000
OF&AH HUXE ZAAY
1,520,000,000& 1,520,000
= 1,520,000
AMEAM2e| A3 406,030 402,302 3,728
= 169,413
= 31,500
= 205,117
AZTEZAHA OFM 22| 406,030 402,302 3,728
= 169,413
== 31,500
= 205,117
QA AN 22 17,076 21,180 AN4,104
201 et 7,500 7,500 0]
01 AP 2t 2| bl 7,500 7,500 0
OAMEQQM2UZ EE2S M
2,000& * 2,5007H 5,000
OLIRAAl ¥ TIERE HA 89
250,000& = 10= 2,500
202 044l 9,576 13,680 N4,104
01 2L I 9,576 13,680 AN4,104
O/MAR =X 0| 13,680,000 = 70% 9,576
AN X EChE 7,328 8,000 ANBT72
201 Bt 728 1,400 ANBT2
01 AP 22| H| 728 1,400 ANBT72
OSIMe A NTEs A
8,000& ~ 7Y * 133 728
301 et X = 6,600 6,600 0
12 JIEtE A2 6,600 6,600 0
OA2HI A FAMUAIRA & SH|
50,000 * 20¥ =« 5 5,000
OMBFH 2AE2 S84 20,0008 * 80 1,600
YHAN 422 42,800 34,800 8,000
201 LBt 9| 12,200 9,200 3,000
01 AP 22| d| 12,200 9,200 3,000
OfMAAN XA 12,200
SHSAH RS 28 7Y
100,000& * 4504 & 4,500
AE . Z2E LA B8 L TXE MR
100,000& * 2004 & 2,000
SAEOE RBN Y 494 HE
100,000& * 2504 & 2,500
A& 2 T X OMIE 10,0008 * 2004 & 200
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HHS YA (FLP M)
S (HASIMD)

5 - 4
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
O#MHAY SAE4H| 1,022
-Cols AFRD1D]
1,300,000& = 20CH * 5% * 70% 910
-T2l 4,000,000 * 204 * 2% * 70% 112
ORdEs AISE 22,000 = 104 ~ 12&€ 264
202 04d| 1,680 2,400 AT20
01 2L Hl 1,680 2,400 ANT20
OFAAMY 2K O H|
2,400,000 * 70% 1,680
203 € R F&d| 3,600 3,600 0
04 EASHEIRFAH| 3,600 3,600 0
OFRMSIERFEH| 300,000& * 12& 3,600
HEES(HAAM) 250,000 260,000 A 10,000
WHEAHAH XK= 250,000 260,000 A 10,000
ZAMYIINE & FAXNHI)=2 852 250,000 250,000 0
702 12852 250,000 250,000 0
Mos2EE=2 250,000 250,000 0
OXHEH F=2XSIN2 83
2,500,000,000& * 10% 250,000
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